TECNICO
LISBOA

Calculo Diferencial e Integral 11
Ficha de trabalho 1

(Esbogo de Conjuntos)

Esboce os conjuntos seguintes:
ER? iz + |yl > 1522 +y* <1}
ER?: 22 -1<y<1-2?%}
eR?: 2% —y?2 =0}

€ R?:cos(x +y) =1}

f) {(z,y,2) eR3:a? +y* > 1; 2% +y* +2° < 4}
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g) {(z,y,2) ER3¥: 2> /22 +y2; o +y+22 < 2}
h) {(z,y,2) ER3: z =22 +4y2; y=1}
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DAy, 2)eRax+y+2<2;y>0;2>0;2=13}
k) {(z,9,2) eER* 1w +y+2<2;2>1;y>0; 2= 3}
D {(z,y,2) ER3: a2 +9y? > 1; 22+ 9> +22<4;2=1}
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) {(z,y,2) €R3: 2 = |}
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ER 2+ > 122+ +22 <4;y=1}



